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Test Version: Print Name:

45minutes

Multiple Choice - 46 Questions - 15 of 15%

1. Readdll the instructions andoth sides (back and front) of all pages.

2. Put theTest Version abore into NO. OF QUESTIONS andNO. OF STUDENTS
3. Answer the questions you kmdirst. OneAnswer Only per question.

4. Manage your time when answering questions on this test!

1. [23/87] What is the link count of filé after this set of successful
commands?
rmf; touch f; In f bar
cpbarx;Inxy;lnbarz;Ilnza

al b. 2 c. 4 d 5 e 3

2. [24/87] If my current working directory ignome , and my home directory is
/home/me , which command copies the password file into my home directory

under the namfoo ?

cp ../home/./mel../etc/passwd ./me/./[foo
cp ..I..Jetcl.Ipasswd /me/foo

cp ././Imel../etc/passwd ../home/me/foo
cp me/../../etc/passwd ./me/foo

cp ./../etc/passwd ../me/foo

PoooTe

3. [28/85] If my current directory igbin , which of these pathnames is
equiadent to the file naméin/ls  ?
a. lIsl.
c. ../../bin/ls
e. /root/bin/ls

b. ./bin/ls
d. ../bin/ls/.

4. [29/86] If my current working directory ilhome , and my home directory is
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5.

7.

/home/me , which command copies the password file into my home directory 0.

under the namfoo ?

cp ..letc/passwd ../me/foo

cp ..letc/passwd ./me/foo

cp ../home/me/../etc/passwd ./me/./[foo
cp ./mel../etc/passwd ../home/me/foo
cp ..I../letc/passwd /me/foo

PoooTe
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[ 32/ 86] If foo is a sub-directory that contains only the bk , what
happens after this commandmv ./foo/bar foo/../moo

the command fails because the narmeo does not exist

the directoryfoo now contains only a file namedoo

the command fails because the ndow../moo  does not exist
there is a second cppf the filebar in the file namednoo

the directoryfoo is nav empty

PoooTw

[ 32/ 86] If I am in my home directory nameédome/me andsub is an
empty sub-directorywhat is true after this command line:
touch .ffil ; mv sub/..ffil ../me/cat
the command fails because the paftine/cat  does not exist
the directorysub/..  now has a file namedat in it
there is a second cppf the filefil  in the file namedat
the directorysub now contains only a file namezht
the command fails because the paib/../fil does not exist

Poo T

[ 32/ 87] What is the link count of fil€ after this set of successful
commands?

rmf; touch f; In f bar

cpbarx;inxy;Inbarz

a5 b. 3 c. 2 d 1 e 4

[ 33/86] If | am in my home directory namédome/me andmt is an
empty sub-directorywhat is true after this command line:
touch ./foo ; mv ./mt/../foo ../me/bar
the command fails because pafime/bar ~ does not exist
the directorymt now contains only a file namdahr
there is a second cppf the filefoo in the file namedbar
the command fails because pdtht/../foo does not exist
the directorymt/..  now has a file namelbar in it

PoooTw

[ 33/87] If my current directory igetc , which of these pathnames is
equident to the pathnamletc/xly  ?

a. .letcly b. Ixly C. ..Ixly
d. .Jetc/xly e. .letc/xly
[ 34/ 87] If /etc/shadow s a file name, which pathnameval/s leads to

the same file?

a. /etcl/../../shadow
c. /./..letcl./[shadow
e. ./.letc/shadow

b. /etc/shadow/./.
d. /etc/shadow/../..
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[ 34/ 87] What is the link count of filé after this set of successful
commands?

rm f; touch f; cp f x

Infa;Inxy;lnaz;Inxb

a5 b. 4

[ 36/ 87] If file foo occupies one disk block, Wwamary disk blocks are in use
after this sequence of commands:
cp foo bar ; In bar one ; cp one two ; In one pig

c. 6 d 3 e 2

a. 1bhlock b. 4 blocks C. 2 blocks
d. 3 blocks e. 5 blocks
[37/87] If I am in my home directory namédome/me anddir is an

empty sub-directorywhat is true after this command line:
touch new ; mv ./dir/../new ../me/old
the command fails because the paftine/old does not exist
the directorydir now contains only a file nameanld
there is a second cppf the filenew in the file nameald
the command fails because the pédir/../new does not exist
the parent directory afir now has a file namedld in it

Poo o

[ 37/ 87] What is the link count of directony after this set of successful
commands? mkdird ; cd d ; touch a ; mkdirb cd

a 6 b. 2 c. 5 d 4 e 3

[ 38/ 87] If /etc/passwd
the same file?

a. /./letc/./passwd

c. /etc/../passwd

e. /etc/passwd/.

is a file name, which pathnamevays leads to

b. ./etc/passwd
d. /etcletc/../passwd

[41/87] If my current directory igetc , which of these pathnames is
equialent to the file naméetc/passwd  ?

a. ../etc/passwd/. b. /passwd

C. ../passwd d. ./etc/passwd

e ./passwd

[ 42/ 87] What is the resulting link count of empty directaliy after this set
of successful commands?
cd dir ; touch foo ; In foo one ; In foo two

a 2 b. 3 c. 4 d 5 el
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[ 43/ 87] Given thisls -il dir long listing:
454 drwxr-xr-x 123 me me 456 Dec 4 9:12 dir
How mary subdirectories lie immediately unddir ?

a. 123 b. 456 c. 121 d. 458 e 454

[ 44/ 86] If | have a drectory nameat/d , which action would increase its
link count by exactly one?

create a file namedd/e

create a hard link to directod/namedd?2

create a file namedd?2

create a directory namexd?2

create a directory namexd/e

Poo o

[ 44/ 86] In the output ofs -a
what?

A name with an unprintable character.
The current directory.

A name that is hidden.

The parent directory.

A current file.

, adot (period) that begins a name signifies

PoooTe

[46/87] If | am in my home directory namédome/me andmt is an
empty sub-directorywhat is true after this command line:

touch ../me/foo ; cp ./mt/../foo ./mt/../bar
the directorymt now has a file nametar in it
the file namedoo is nav renamed tdar
the command fails because the pétti/../foo
the directorymt is still empty
the directorymt now contains tvo files

does not exist

Poo o

[ 46/ 87] What is true about this output frds-il foo bar ?
861 -rw-r--r-- 2 root root 3 Jan 24 01:03 foo

861 -rwxr-xr-x 2 bin bin 3 Nov 12 12:55 bar

a. foo andbar are names for different files

b. foo andbar are two of three names for this file

c. foo andbar each hse three names (six hames total)

d. foo andbar are names for the same file

e. this output is not possible
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23. [47/ 87] What is the link count of filé after this set of successful
commands?
rmf; touch f; In f bar
cpbarx;Inxy;lnyz

a 4 b. 2

24,

[ 50/ 85] If pig

c. 0 d 3 el

is a sub-directory that contains only the @iy, what

happens after this commandmv pig/dog pig/././cat

PoooTe

25.

the directorypig now contains only a file namecht

the command fails because the narat does not exist

the directorypig is nowv empty

the command fails because the naigg././cat does not exist
there is a second cppf the filedog in the file namedat

[ 50/ 87] What is the link count of directoy after this set of successful

commands? mkdird ;cdd;touchf;Infx;Infy

a

26.

a

b.
. foo andbar each hae three names (six hames total)

c
d

. 5 b. 4 c. 1 d 3 e 2

[51/87] What is true about this output frds-il foo bar ?
871 -r-------- 3 bin
872 -r-------- 3 bin

bin 2 Apr2210:15 foo
bin 2 Apr2210:15 bar

. foo andbar each hae wo names (four names total)
this output is not possible

. foo andbar are two of three names for this file

e. foo andbar are names for the same file

27.
al

a

28.

[ 53/ 86] In a directory that contains only the fimgle

[ 53/ 87] If you type the commanchat , which CTRL key will send anEOF

nd tale you back to the command prompt?

. "R b. '\D c. 'E d U e C

, What happens after

this command: mv single double

PoooTw

46 M/C Questions

the command fails because the natoable does not exist

the command fails becausmgle is not a directory

an empty file namedouble is created

there is a second cppf the filesingle in the file namediouble
there is only the file nameatbuble in the directory now
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[ 54/ 86] If foo is a sub-directory that contains only the bk , what
happens after this commandmv foo/bar foo/moo

the command fails because the narmeo does not exist

an empty file namenhoois created

there is a second cppf the filebar in the file namednoo

there is only the file nameadooin the directory now

the command fails becaubar is not a directory

PoooTe

[ 54/ 87] What is the link count of directoy after this set of successful
commands?
mkdir d ; mkdir d/a ; mkdir d/b ; mkdir d/b/c

a 2 b. 5 c. 1 d 3 e 4

[55/87] What is the link count of directony after this set of successful
commands? mkdird ; touchf;cdd; In../fx

a 4 b. 5 c. 2 d 3 el

[ 56/ 87] What is true about this output fras-il foo bar
15 -r-x-----X 2 bin bin 3 Oct 30 09:23 foo
15 -r-x-----x 2 bin bin 3 Oct 30 09:23 bar
a. foo andbar are names for different files

b. this output is not possible

c. foo andbar are names for the same file

d. foo andbar are tw of three names for this file

e. foo andbar each hae three names (six names total)

[58/87] What is true about this output frds-il foo bar
23 -rwxr----- 3 root root 2 Jul 31 12:33 foo

24 -rwxr----- 3 root root 2 Jul 31 12:33 bar

a. foo andbar are two of three names for this file

b. foo andbar each hge o names (four names total)
c. foo andbar are names for different files

d. foo andbar are names for the same file

e. this output is not possible

[ 60/ 87] What command can you use to delete a directory thataspty?

a. mv -r dir b. del -r dir
c. rm -r dir d. rmdir -r dir
e. deldir -r dir
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[ 60/ 87] What is the link count of directoy after this set of successful
commands? mkdir d ; mkdir d/a ; touch d/b

a 2 b. 4 c. 1 d 3 e 5

[ 60/ 87] Which Unix command line deletes a directory anehgthing inside
it?

a. deltree -all dir
c. rmdir -all dir
e rm -r dir

b. rmdir -r dir
d. rm -all dir

[61/87] What is true about this output frds-il foo bar
35 -rw-rw-r-- 2 bin bin 3 Jan 24 01:03 foo
36 -rw-rw-r-- 2 bin bin 3 Jan 24 01:03 bar

a. foo andbar are names for the same file

b. foo andbar are tvo of three names for this file

c. foo andbar each hae wo names (four names total)
d. foo andbar each hae three names (six names total)
e. this output is not possible

[63/87] Inthe output ofs -a

a. Acurrent file.

b. The current directory.

C. A name that is hidden.

d. The parent directory.

e. A name with an unprintable character.

, the one-character namesignifies what?

[ 65/ 87] If you type the commandecho 'missing quote

which CTRL key will interrupt it and tale you back to the command prompt?
a ’l b. "U c. D d "R e C

[65/87] Inthe output ofs -a , the two-character name signifies what?
a. The current directory.

b. The parent directory.

c. Afile or directory with double links.

d. A hidden file.

e. The root directory.

[ 68/ 87] If you type the commansleep 60 , which CTRL key will
interrupt it and tale you back to the command prompt?

a. U b. "D c. R d 7l e C
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[ 68/ 87] What would you type to find the stringny in the file

letc/passwd  ?

a. grep /etc/passwd tony

b. grep tony /etc/passwd

C. cat tony /etc/passwd

d. find /etc/passwd -name tony -print
e. find /etc/passwd -user tony -print

[ 70/ 87] Which of the following is true, géen this long directory listing:
drwxr-x--x 512 ian user 712 May 30 12:35 dir

The number 712 is the inode number of this directory.

The number 512 is the count of links (names) this directory has.

The number 512 is the size of this directory.

The number 712 is the count of links (names) this directory has.

The number 512 is the inode number of this directory.

PooTw

[ 71/ 87] Which command line belwdoes not shw any lines from inside the
file bat ?
a. head bat
d. tail bat

b. more bat c. less bat

e. Is bat

[ 74/ 87] What is the output of this successful command sequence?
cd /home/dir ; mkdir one ; mkdir two ; pwd

a. /home/dir/one/two b. /home/dir/two

c. /home/dir/fone d. /two

e. /home/dir

. [ 84/ 87] What command can you use to delete an empty directory?

b. mvdir
e. deldir

a. delete
d. rmdir

C. erase
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